Geosynchronous Satellite

A. Find the radius [image: image1.png]


of the orbit of a geosynchronous satellite that circles the earth. (Note that [image: image2.png]


is measured from the center of the earth, not the surface.) 

You may use the following constants: 

· The universal gravitational constant [image: image3.png]


is [image: image4.png]


. 

· The mass of the earth is [image: image5.png]


. 

· The radius of the earth is [image: image6.png]


. 

Give the orbital radius in meters to three significant digits. 
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